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                                                                           - 2x  +  25,      0   x   2; 
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                                    n(x) =               2x  + 25,      0   x  1 ; 
                                                         -2x  +  29  ,  1   x  2 ; 

                                                                            25,  x    2. 
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    +   n(x)u  =  0;                                         25 ,   x  0; 

                                      n(x) =               x2  + 28,      0   x  2 ; 
                                                                            25,  x    2. 
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    +   n(x)u  =  0;                                          25 ,   x  0; 

                                                    n(x) =        (x – 2)2  + 25,      0   x  2 ; 
                                                                            25,  x    2. 
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                                               n(x) =        40 -3 (x – 1)2 ,      0   x  2 ; 
                                                                            36,  x    2. 
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    +   n(x)u  =  0;                                          36 ,   x  0; 

                                                n(x) =        35 +3 (x – 1)2 ,      0   x  2 ; 
                                                                            36,  x    2. 
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    +   n(x)u  =  0;                                          25 ,   x  0; 

                                          n(x) =        25 +3 x ,      0   x  1 ; 
                                                                    4(x – 1,5)2 + 27 , 1    x  2 ; 

                                                                            25,  x    2. 
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    +   n(x)u  =  0;                                          25 ,   x  0; 

                                         n(x) =        28 - 3x ,      0   x  1 ; 
                                                                    - 12(x – 1,5)2 + 28 , 1    x  2 ; 

                                                                            25,  x    2. 
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    +   n(x)u  =  0;                                                       25 ,   x  0; 

 n(x) =           -5 x  +  30,      0   x  1 ; 
                                                                                          5 x + 20   ,  1   x  2 ; 

                                                                                           25,  x    2. 
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    +   n(x)u  =  0;                                          25 ,   x  0; 

                                                       n(x) =     2sin(x) +  28 ,      0   x  2 ; 
 

                                                                            25,  x    2. 
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    +   n(x)u  =  0;                                          25 ,   x  0; 

                                                        n(x) =     2 cos(x) +  28 ,      0   x  2 ; 
 

                                                                            25,  x    2. 
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    +   n(x)u  =  0;                                          25 ,   x  0; 

                                        n(x) =      ch(x) + 26 ,      0   x  2 ; 
 

                                                                            25,  x    2. 
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    +   n(x)u  =  0;                                          25 ,   x  0; 

                                        n(x) =    26 + 2sh(x) ,      0   x  2 ; 
 

                                                                            25,  x    2. 
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    +   n(x)u  =  0;                                          25 ,   x  0; 

                                        n(x) =          25 + 3xsin(2 x) ,      0   x  2 ; 
                                                                            25,  x    2. 
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    +   n(x)u  =  0;                                          25 ,   x  0; 

                                                              n(x) =     (x – 2,5) 2 +   25;    
                                                                            25,  x    2. 
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    +   n(x)u  =  0;                                          25 ,   x  0; 

                                          n(x) =       - (x – 2,5)2  +  31, 25 ,      0   x  1 ; 
                                                                

                                                                            25,  x    2. 
 

№18 
 

 
 
 
e i 5 x  +  Ae – i5 x 
  
 
 
 

2

2

xd
ud

    +   n(x)u  =  0;                                          25 ,   x  0; 

                                          n(x) =       - 8(x – 0,5)2  +  28 ,      0   x  1 ; 
                                                                  - 8(x – 1,5)2  +  28, 1    x  2 ; 

                                                                            25,  x    2. 
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